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AP Calculus BC  
Quiz 6 – Section 9.6         Period ______  Score ________ / 10
Circle the letter of the correct answer for each problem.  Each problem is worth 2 points.  

	1.
	Determine the convergence or divergence of the series.



	
a)
	
converges

	b)
	Root Test inconclusive

	c)
	diverges




	    2. 
	Determine the convergence or divergence of the series 

.

	a)
	converges

	b)
	diverges




	3.
	Determine the convergence or divergence of the series.



	a)
	Root Test inconclusive

	b)
	converges

	c)
	diverges




	4.
	Determine the convergence or divergence of the series.



	a)
	diverges

	b)
	converges

	c)
	Ratio Test inconclusive





	5.
	Determine the convergence or divergence of the series

 .

	a)
	converges

	b)
	diverges




Answer Key

	1.
	A

	2.
	B

	3.
	A

	4.
	A

	5.
	A
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AP Calculus BC  
Quiz 6 – Section 9.6         Period ______  Score ________ / 10
Circle the letter of the correct answer for each problem.  Each problem is worth 2 points.  

	1.
	Determine the convergence or divergence of the series.



	a)
	converges

	b)
	diverges

	c)
	Root Test inconclusive




	2.
	Determine the convergence or divergence of the series.



	a)
	diverges

	b)
	converges

	c)
	Root Test inconclusive




	3.
	Determine the convergence or divergence of the series.



	a)
	Ratio Test inconclusive

	b)
	diverges

	c)
	converges




	4.
	Determine the convergence or divergence of the series

 .

	a)
	converges

	b)
	diverges





	5.
	Determine the convergence or divergence of the series 

.

	a)
	converges

	b)
	diverges





Answer Key

	1.
	C

	2.
	B

	3.
	B

	4.
	A

	5.
	B
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